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r = —0.31#+ 7.2t + 28, (1)
y = 0.22t* — 9.1t + 30. (2)
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() = x(t)i +y(t)j. (3)
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2(15s) = (—0.31) x (15)* 4+ 7.2 x 15 + 28 = 66(m),
y(15s) = (0.22) x (15)* — 9.1 x 15+ 30 = —57(m),
7(t) = (66m)i+ (—57m)j. (4)
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an” ~ = tan (66m) 0.71ra (5)

ool tle =sinyd 00 Oy =
sin'x0000000000000000000000000 y=arcsing (00000
0000)00000000000000 Ocos™! z(= arccosz) 0 Otan™! z(= arctan x)
gooobbodod
()OO tOOOOOOoOOoooooooo ~ ~
U(t) = va(t)i + vy (t)j (6)
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v (t) = (fi—f = —0.62t + 7.2(m/s), (7)

v:(158) = —2.1m/s, (8)
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v,(158) = —2.5m/s. (10)
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= 3.3m/s,
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